

TO VALIDATE, GO TO Certificate Number: GI-COO-55796-67795e45c157b **VERIFY.FTGS.US** Date: January 04, 2025

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel	Port of Loading LOS ANGELES
l3 Corporate Park Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee	Export Date 2024-12-15	Exporting Carrier N/A
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A	Bill of Lading / AWB 401410662572
Beijing China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1551bales Total: 677.924mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.707mt	United States
Marks: TRHU6785604 52bales		
Alfalfa Hay	22.272mt	United States
Marks: TXGU6808340 52bales		
Alfalfa Hay	22.553mt	United States
Marks: TXGU5859487 52bales		
Alfalfa Hay	21.11mt	United States
Marks: TGBU4551218 52bales		
Nfalfa Hay	22.734mt	United States
Marks: EMCU8385734 52bales		
Alfalfa Hay	22.226mt	United States
Marks: EGSU1202980 52bales		XXXXX
Nfalfa Hay	22.625mt	United States
Marks: EGSU9293082 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-55796-67795e45c157b **VERIFY.FTGS.US** Date: January 04, 2025

	A TOTAL TOTA	
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
rvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
Consignee	Export Date 2024-12-15	Exporting Carrier N/A
Bei Jing You Yuan Mu Ye Limited Company On meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A	Bill of Lading / AWB 401410662572
Beijing China	Owner or Agent N/A	Forwarding Agent N/A
	Remarks	

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village

Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1551bales Total: 677.924mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.489mt	United States
Marks: TIIU5749260 52bales		
Alfalfa Hay	22.489mt	United States
Marks: EITU9347632 52bales		
Alfalfa Hay	22.498mt	United States
Marks: EMCU9961500 51bales		
Alfalfa Hay	22.888mt	United States
Marks: TXGU5591917 52bales		
Alfalfa Hay	22.743mt	United States
Marks: TRHU7095820 51bales		
Alfalfa Hay	22.435mt	United States
Marks: TIIU4239364 51bales		
Alfalfa Hay	23.061mt	United States
Marks: TXGU7237435 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-55796-67795e45c157b **VERIFY.FTGS.US** Date: January 04, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee	Export Date 2024-12-15	Exporting Carrier N/A
Bei Jing You Yuan Mu Ye Limited Company  200 meters west of Village Committee, Wuxiongsi Village  Dasungezhuang Town, Shunyi District	Import Permit Number N/A	Bill of Lading / AWB 401410662572
Beijing China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1551bales Total: 677.924mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	22.789mt	United States	
Marks: TXGU5767360 52bales			
Alfalfa Hay	22.97mt	United States	
Marks: EMCU8940293 52bales			
Alfalfa Hay	22.653mt	United States	
Marks: TRHU7193106 51bales			
Alfalfa Hay	22.371mt	United States	
Marks: TRHU7847300 50bales			
Alfalfa Hay	22.961mt	United States	
Marks: EGHU9493744 52bales			
Alfalfa Hay	22.399mt	United States	
Marks: EISU8519517 52bales		ZXXXXX	
Alfalfa Hay	22.262mt	United States	
Marks: CAAU5758672 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-55796-67795e45c157b **VERIFY.FTGS.US** Date: January 04, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
rvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Export Date 2024-12-15	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410662572
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1551bales Total: 677.924mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	22.217mt	United States	
Marks: TCKU6540795 52bales			
Alfalfa Hay	22.925mt	United States	
Marks: TGBU6900155 52bales			
Alfalfa Hay	22.126mt	United States	
Marks: TLLU7517218 52bales			
Alfalfa Hay	22.87mt	United States	
Marks: TGBU7738603 52bales			
Alfalfa Hay	23.079mt	United States	
Marks: TXGU6139075 52bales			
Alfalfa Hay	22.616mt	United States	
Marks: EGHU9780934 50bales		ZXXXXXX	
Alfalfa Hay	22.834mt	United States	
Marks: EMCU8271114 51bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-55796-67795e45c157b **VERIFY.FTGS.US** Date: January 04, 2025

seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel	Port of Loading LOS ANGELES
l3 Corporate Park Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Export Date 2024-12-15	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410662572
eijing hina	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District

Beijing China

Remarks Total: 1551bales Total: 677.924mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
lfalfa Hay	23.433mt	United States	
Marks: EMCU8603590 52bales			
lfalfa Hay	22.589mt	United States	
Marks: TGBU6307659 52bales			
end of products			
	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

#### Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

#### **COMMERCIAL INVOICE**

Invoice No.

YY-202412004

Date:

10/17/24

Shipper/Exporter:

Vessel:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

**Contract No.:** 

**Booking No.:** 

Discharge:

ETA:

Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village,

YY-HGLC2024-7

401410662572

1/20/25

TianjinXingang, China

Dasungezhuang Town, Shunyi District, Beijing

Country of Origin: USA

EVER MEGA

**Voyage No.:** 1377-003W

**Shipping Line:** Evergreen

Port of Loading: LOS ANGELES, CA

**ETD:** 12/15/24

Price Terms: CIF

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
CAAU5758672	A1620565	Alfalfa Supremi	52	22.262	\$395.00	\$8,793.49
EGHU9493744	A1620567	Alfalfa Supremi	52	22.961	\$395.00	\$9,069.59
EGHU9780934	A1620515	Alfalfa Supremi	50	22.616	\$395.00	\$8,933.32
EGSU1202980	A1620621	Alfalfa Supremi	52	22.226	\$395.00	\$8,779.27
EGSU9293082	A1620718	Alfalfa Supremi	52	22.625	\$395.00	\$8,936.88
EISU8519517	A1620566	Alfalfa Supremi	52	22.399	\$395.00	\$8,847.60
EITU9347632	A1620716	Alfalfa Supremi	52	22.489	\$395.00	\$8,883.16
EMCU8271114	A1620514	Alfalfa Supremi	51	22.834	\$395.00	\$9,019.43
EMCU8385734	A1620624	Alfalfa Supremi	52	22.734	\$395.00	\$8,979.93
EMCU8603590	A1620513	Alfalfa Supremi	52	23.433	\$395.00	\$9,256.03
EMCU8940293	A1620612	Alfalfa Supremi	52	22.970	\$395.00	\$9,073.15
EMCU9961500	A1620714	Alfalfa Supremi	51	22.498	\$395.00	\$8,886.71
TCKU6540795	A1620564	Alfalfa Supremi	52	22.217	\$395.00	\$8,775.72
TGBU4551218	A1620629	Alfalfa Supremi	52	21.110	\$395.00	\$8,338.45
TGBU6307659	690069	Alfalfa Supremi	52	22.589	\$395.00	\$8,922.65
TGBU6900155	690062	Alfalfa Supremi	52	22.925	\$395.00	\$9,055.38
TGBU7738603	A1620519	Alfalfa Supremi	52	22.870	\$395.00	\$9,033.65
TIIU4239364	A1620711	Alfalfa Supremi	51	22.435	\$395.00	\$8,861.82
TIIU5749260	A1620717	Alfalfa Supremi	52	22.489	\$395.00	\$8,883.16
TLLU7517218	A1620520	Alfalfa Supremi	52	22.126	\$395.00	\$8,739.77
TRHU6785604	A1620722	Alfalfa Supremi	52	22.707	\$395.00	\$8,969.26
TRHU7095820	A1620712	Alfalfa Supremi	51	22.743	\$395.00	\$8,983.48
TRHU7193106	A1620611	Alfalfa Supremi	51	22.653	\$395.00	\$8,947.93
TRHU7847300	A1620570	Alfalfa Supremi	50	22.371	\$395.00	\$8,836.55
1. GU5591917	A1620713	Alfalfa Supremi	52	22.888	\$395.00	\$9,040.76
TXGU5767360	A1620616	Alfalfa Supremi	52	22.789	\$395.00	\$9,001.66

Total Value:			1,551	677.924		\$267,779.96
TXGU7237435	A1620618	Alfalfa Supremi	52	23.061	\$395.00	\$9,109.09
TXGU6808340	A1620675	Alfalfa Supremi	52	22.272	\$395.00	\$8,797.44
TXGU6139075	A1620715	Alfalfa Supremi	52	23.079	\$395.00	\$9,116.20
TXGU5859487	A1620630	Alfalfa Supremi	52	22.553	\$395.00	\$8,908.43

Commodity	<b>Crude Protein</b>	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG



**AUTHORIZED SIGNATURE** 



